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2523 | mfH |< 0.0003| < 0.005 | < 0.005 <0002| <01
2523 | mfH |< 0.0003| < 0.005 | < 0.005 <0002| <01
3321 | mfH |< 0.0003| < 0.005 | < 0.005 <0002| <01
3321 | mfH |< 0.0003| < 0.005 | < 0.005 <0002| <01
3321 | mfH |< 0.0003| < 0.005 | < 0.005 <0002| <01
3321 | mfH |< 0.0003| < 0005 | < 0.005 <0002| <01
4427 | KL ET 0.0003 | < 0.0004| <001 | <0004| <0002 <0002| <0.1 |<0.0006| <0001 [ <0001
6340 | Rz |< 0.0003| < 0.005 | < 0.005 <0002| <01
6340 | Rz |< 0.0003| < 0.005 | < 0.005 <0002| <01
6340 | Rz |< 0.0003| < 0.005 | < 0.005 <0002| <01
; 6340 | Rz |< 0.0003| < 0.005 | < 0.005 <0002| <01
# | 6440 | B < 0.0003| < 0.005| 0.006 <0002| <01
,’; 6440 | AL AT | < 0.0003 < 0.005 | < 0.005 <0002| <01
% 6440 | AL AT | < 0.0003] < 0.005 | < 0.005 <0002| <01
K| 6540 | KLY 0.0005 |< 0.0004| <001 | <0.004| <0002 <0002| <0.1 |<0.0006| <0001 <0.001
g 6540 | K LLIEHET 0.0007 |< 0.0004| <001 | <0.004| <0002 <0002| <0.1 |<0.0006| <0001 [ <0001
6740 | J\iEH < 0.0005, 0005
6740 | J\iEH < 0.0005, <0005
6740 | J\iEH 0.0005 |< 0.0003| 0.006
6740 | J\iEH < 0.0005, 0012
6746 (34 H R E] <0001
6746 (34 H R E] <0001
6747 |5iA HIRE <0.001
6747 |5iA HIRE <0.001
6747 |5iA HIRE <0.001
6747 |5 HIRE <0.001
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